
Step 1 Step 2

 How many no. of groups (classes)?

 Just enough classes to reveal the  
shape of the distribution.   

 Let k be the desired no. of classes.

 k should be such that 2k > n.

 If n = 80 and we choose k = 6,

then 26 = 64 which is < 80, so k = 6
is not desirable. If we take k = 7,
then 27 = 128, which is > 80, so no.
of classes should be 7. 

 Determine the class interval (width).

 the class interval should be the same
for all classes.

 The formula to determine class width:

where i is the class width, H is the
highest observed value, L is the
lowest observed value, and k is the 
number of classes.
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 Set the individual class limits.       
 Class limits should be very clear. 
 Class limits should not be 

overlapping.
 Some time class width is rounded 

which may increase the range H-L.
 Make the lower limit of the first

class a multiple of class width. 

 Make tally of observations falling 
in each class.

Step 3 Step 4

Step 5

 Count the number of items in each
class (class frequency)
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Raw Data
( Ungrouped Data )

2044519251266132281725449245712237421740

2361317266274433592527896262852284520962

1889029237155463227719331217222144220356

2063320642358512365718263157942579924052

1796832492274532453326661257832376520203

2198119766208182867019688201551735720004

2089517399283372316928034252772525119873

1988920642290762665124609243242428520047

1593524296216392155819587308722868318021

1789122442306552422023591204542337223197
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 Following Step 1, with n = 80, k should be 7. 
 Following Step 2 the class width should be 2911.
 The width size is usually rounded up to a number multiple of 10 or 100.
 The width size is taken as i = 3000.
 Following Step 3, with i = 3000 and k = 7, the range is 7×3000=21000.
Where as the actual range is H – L = 35925 - 15546 = 20379.
 The lower limit of the first class should be a multiple of class width.
 Thus the lower limit of starting class is taken as 15000.

 Following Step 4
and Step 5

Total = 80

233000 up to 36000

430000 up to 33000

827000 up to 30000

1824000 up to 27000

1721000 up to 24000

2318000 up to 21000

815000 up to 18000
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